RIM/NACC Evening session Notes:

The principles highlighted in yellow were agreed in the evening session to be Working Assumptions for the CR to Rel-5 RIM/NACC.

1) Functional split between RIM and NACC

a. Timers

Note: The timers can be either at the RIM or the Application. These timers will be called T(RIR) and T(RI).
b. Architecture for error handling

i. The Error handling:

1. Companies to comment on the Error Handling in the CR.

c. Repetition and in-order delivery function

i. The RSN maybe incremented for repetitions for of RIR messages and RI messages.

Note: If repetitions are sent with the same RSN then the repetitions shall be identical to the original message.
d. Acknowledgements

i. Linking between RI (Response) and RIR (Request) - required to allow a non-implementation specific solution:

1. RRSN (+ Nortel Concept) – Not Agreed as additional IE required.

2. Mirroring of Cell ID – Working Assumption
(Source Cell ID RIR -> Destination Cell ID of RI + 

Destination Cell ID RIR -> Source Cell ID of RI + 

Nortel Proposal 

(Note 1: The Source Cell ID in the RIR may be an Anchor Cell. 

Note 2: The Anchor Cell shall not be used as the Source cell ID by the Serving BSC.

Note 3: The Controlling BSC shall only have one outstanding RIR related to one destination cell ID. (Outstanding RIR means that an RIR has been neither Acked by RI nor Acked by RIE nor governing Timer Expired))

3. TI – Not Agreed as too much additional complexity.

ii. RI and RI ACK

e. PDU Type Extension (Nortel Proposal)

i. The extension is agreed not to include the ACK bit.
ii. Periodic reporting???

1. How is the period indicated?

f. What requirements will be introduced by other Apps on RIM?

g. Introduction of the Cell ID into the RI-END container.

i. Why?

h. Disregarding any Cell ID in a RIR that is not known by a BSC.

i. ???

2) CR

a. Style

i. Nokia would prefer for the CR to be based on the current wording of the specification, where possible.

ii. Companies to provide the 

b. Size

c. The definition of RIM will affect the RIM/NACC split.

3) How long can we go on for Release 5?

4) Other

a. RIM Cell Identifier – Does it correctly contain the RAI?

b. How do we detect lost connections? 

i. Is text required in the TS?

c. How do we handle TR 44.901?

